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Add the following. | -
Z = o(mb] DL
620 110
+| 290 | +| 290
- I

2. Subtract the following.

a) [mL]| P |mL

7 79 937 839 6101

_| 2 _| 26 _| 459 _| 539 1590
| I N

3. Solve the following.

b) L mL C) ik, mL

25 520 723 | 297

+| 61 130 _| 456 | 132

I I
1. Add. -
| ml
: o 18 180 36 275
. + 12 200 :

T 15 150
ml | ml
45 520 25 650 30 350

A AL . 20 600




2. Subtract

72
- 15

78

— 22

| ml l ml

55 620 65 750

- 15 200 — 45 300
10 420

| ml | m|

80 950 45 530

— 25 440 _ 25 400
5‘!70“4 5um$)
—  d .

A can had 52 litres of milk. Out of this 28
litres were sold. How much was left ?

Amedicine bottle had 125 ml of s;rup out of

this 75 ml was used. How much was left in
the bottle ?

A bottle has 250 ml of co
this, 105 ml was us
the bottle ?

conut oil. Out of
ed. How much was left in

. A can had 60 litre
28 litres of oil w
leftinthe can>

s of oil. Out of that only
as used. How much oil was

— —
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